
Area and Perimeter of Composite Shapes (A)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

6.8m 6.8m
5.9m

𝐸

𝐴

𝐷

𝐵

𝐶

2.

10.5 in

6.1 in

15.1 in

15.3 in

18.8 in

4.8 in

3.7 in

𝐵

𝐴

𝐹

𝐸

𝐶 𝐷

3.

16.2 cm

7.8 cm

7.9 cm

11.2 cm
6.0 cm

12.5 cm

12.9 cm

16.2 cm

6.2 cm
10.8 cm

𝐹𝐺

𝐴

𝐶𝐷

𝐸

𝐵

4. 8.1 yd

6.5 yd
4.8 yd

2.5 yd

7.0 yd

1.6 yd

3.3 yd

𝐵

𝐴

𝐸
𝐷𝐼

𝐶

𝐺

𝐻

𝐹
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Area and Perimeter of Composite Shapes (A) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

6.8m 6.8m
5.9m

𝐸

𝐴

𝐷

𝐵

𝐶

Area

(Area of 𝐴𝐵𝐷𝐸) + (Area of 𝐵𝐶𝐷)
= (6.82) + ( 6.8×5.9

2
)

= 46.24 + 20.06
= 66.3m2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 6.8 + 6.8 + 6.8 + 6.8 + 6.8
= 34.0m

2.

10.5 in

6.1 in

15.1 in

15.3 in

18.8 in

4.8 in

3.7 in

𝐵

𝐴

𝐹

𝐸

𝐶 𝐷

Area

(Area of 𝐴𝐹𝐷𝐸) − (Area of 𝐵𝐹𝐶)
= (15.3 × 18.8) − ( 4.8×3.7

2
)

= 287.64 − 8.88
= 278.8 in2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 10.5 + 6.1 + 15.1 + 15.3 + 18.8
= 65.8 in

3.

16.2 cm

7.8 cm

7.9 cm

11.2 cm
6.0 cm

12.5 cm

12.9 cm

16.2 cm

6.2 cm
10.8 cm

𝐹𝐺

𝐴

𝐶𝐷

𝐸

𝐵

Area

(Area of 𝐴𝐹𝐺) + (Area of 𝐴𝐵𝐸) + (Area of 𝐵𝐶𝐷)
= ( 12.5×10.8

2
) + ( 16.2×16.2

2
) + ( 7.9×6.2

2
)

= 67.5 + 131.22 + 24.49
= 223.2 cm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 16.2 + 7.8 + 7.9 + 11.2 + 6.0 + 12.5 + 12.9
= 74.5 cm

4. 8.1 yd

6.5 yd
4.8 yd

2.5 yd

7.0 yd

1.6 yd

3.3 yd

𝐵

𝐴

𝐸
𝐷𝐼

𝐶

𝐺

𝐻

𝐹

Area

(Area of 𝐴𝐼𝐸𝐻) − (Area of 𝐵𝐼𝐷𝐶) + (Area of 𝐸𝐹𝐺)
= (8.12) − (1.6 × 4.8) + ( 2.5×6.5

2
)

= 65.61 − 7.68 + 8.125
= 66.1 yd2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 6.5 + 4.8 + 1.6 + 5.8 + 7.0 + 1.6 + 8.1
= 35.4 yd
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Area and Perimeter of Composite Shapes (B)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

9.7mm

7.1mm

10.4mm

22.8mm

14.3mm

12.4mm
𝐸

𝐷

𝐹

𝐴

𝐶

𝐵

2.

400.0 in

100.0 in111.8 in 206.2 i
n

316.2
in

141.4 in 50.0 in

𝐷

𝐵

𝐴 𝐶

𝐸

3.

5.8 km

11.1 km

2.1 km
9.1 km

8.5 km
10.3 km

4.7 km

𝐵 𝐶

𝐻

𝐼

𝐴

𝐺
𝐹 𝐸

𝐷

4.

23.4mi

21.3mi

14.8mi

10.6mi

8.9mi
6.3mi

7.1mi

6.5mi9.0mi

17.3mi
𝐵

𝐶𝐹

𝐸

𝐺

𝐷

𝐴
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Area and Perimeter of Composite Shapes (B) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

9.7mm

7.1mm

10.4mm

22.8mm

14.3mm

12.4mm
𝐸

𝐷

𝐹

𝐴

𝐶

𝐵

Area

(Area of 𝐴𝐵𝐶𝐹) + (Area of 𝐶𝐷𝐸)
= (9.7 × 22.8) + ( 12.4×7.1

2
)

= 221.16 + 44.02
= 265.2mm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 22.8 + 9.7 + 14.3 + 7.1 + 10.4 + 9.7
= 74.0mm

2.

400.0 in

100.0 in111.8 in 206.2 i
n

316.2
in

141.4 in 50.0 in

𝐷

𝐵

𝐴 𝐶

𝐸

Area

(Area of 𝐴𝐵𝐶) − (Area of 𝐴𝐸𝐷)
= ( 400.0×100.0

2
) − ( 300.0×50.0

2
)

= 20,000.0 − 7500.0
= 12,500.0 in2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 141.4 + 316.2 + 100.0 + 206.2 + 111.8
= 875.6 in

3.

5.8 km

11.1 km

2.1 km
9.1 km

8.5 km
10.3 km

4.7 km

𝐵 𝐶

𝐻

𝐼

𝐴

𝐺
𝐹 𝐸

𝐷

Area

(Area of 𝐴𝐵𝐼) + (Area of 𝐵𝐶𝐺𝐻) + (Area of 𝐶𝐷𝐸𝐹)
= ( 5.8×8.5

2
) + (13.2 × 9.1) + (11.12)

= 24.65 + 120.12 + 123.21
= 268.0 km2

Perimeter

= 𝐴𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐼 + 𝐼𝐴
= 26.0 + 11.1 + 11.1 + 2.1 + 9.1 + 4.7 + 10.3
= 74.4 km

4.

23.4mi

21.3mi

14.8mi

10.6mi

8.9mi
6.3mi

7.1mi

6.5mi9.0mi

17.3mi
𝐵

𝐶𝐹

𝐸

𝐺

𝐷

𝐴

Area

(Area of 𝐴𝐷𝐸𝐺) − (Area of 𝐸𝐺𝐹) − (Area of 𝐴𝐶𝐵)
= (21.3 × 23.4) − ( 21.3×7.1

2
) − ( 14.8×6.3

2
)

= 498.42 − 75.615 − 46.62
= 376.2mi2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 10.6 + 8.9 + 6.5 + 23.4 + 9.0 + 17.3 + 23.4
= 99.1mi
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Area and Perimeter of Composite Shapes (C)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

8.9 ft

11.4 ft

12.7 ft

9.2 ft

𝐸

𝐴

𝐵

𝐷

𝐶

2.

8.5mi

10.1mi

𝐹

𝐺𝐻

𝐴

𝐶𝐷

𝐸

𝐵

3.

15.5 km

5.5 km

3.7 km
11.1 km

6.7 km

5.1 km

8.8 km 𝐻
𝐺

𝐸
𝐹

𝐴

𝐷

𝐶

𝐵

4.

7.6 cm
4.1 cm

7.9 cm

20.7 cm

5.2 cm

13.3 cm
4.4 cm

10.2 cm 𝐴 𝐷

𝐵

𝐹

𝐺

𝐻

𝐶

𝐸
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Area and Perimeter of Composite Shapes (C) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

8.9 ft

11.4 ft

12.7 ft

9.2 ft

𝐸

𝐴

𝐵

𝐷

𝐶

Area

(Area of 𝐴𝐵𝐸) + (Area of 𝐵𝐶𝐷𝐸)
= ( 11.4×8.9

2
) + (11.42)

= 50.73 + 129.96
= 180.7 ft2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 9.2 + 11.4 + 11.4 + 11.4 + 12.7
= 56.1 ft

2.

8.5mi

10.1mi

𝐹

𝐺𝐻

𝐴

𝐶𝐷

𝐸

𝐵

Area

(Area of 𝐴𝐵𝐶𝐻) + (Area of 𝐷𝐸𝐹𝐺)
= (10.1 × 25.5) + (8.52)
= 257.55 + 72.25
= 329.8mi2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 25.5 + 10.1 + 8.5 + 8.5 + 8.5 + 8.5 + 8.5 + 10.1
= 88.2mi

3.

15.5 km

5.5 km

3.7 km
11.1 km

6.7 km

5.1 km

8.8 km 𝐻
𝐺

𝐸
𝐹

𝐴

𝐷

𝐶

𝐵

Area

(Area of 𝐴𝐵𝐶𝐺) + (Area of 𝐸𝐹𝐺𝐻) + (Area of 𝐶𝐷𝐻)
= (5.5 × 15.5) + (5.1 × 8.8) + ( 6.7×8.8

2
)

= 85.25 + 44.88 + 29.48
= 159.6 km2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 15.5 + 5.5 + 11.1 + 3.7 + 8.8 + 10.6
= 55.2 km

4.

7.6 cm
4.1 cm

7.9 cm

20.7 cm

5.2 cm

13.3 cm
4.4 cm

10.2 cm 𝐴 𝐷

𝐵

𝐹

𝐺

𝐻

𝐶

𝐸

Area

(Area of 𝐴𝐺𝐻) + (Area of 𝐴𝐸𝐹) − (Area of 𝐴𝐷𝐶𝐵)
= ( 10.2×8.5

2
) + ( 15.5×13.7

2
) − (4.1 × 7.6)

= 43.35 + 106.175 − 31.16
= 118.4 cm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 4.1 + 7.6 + 4.1 + 7.9 + 20.7 + 5.2 + 13.3 + 10.2
= 73.1 cm
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Area and Perimeter of Composite Shapes (D)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

18.4mm

4.6mm

4.7mm

9.2mm

14.6mm
𝐸

𝐷

𝐴

𝐺𝐹

𝐵

𝐶

2.

10.8m

7.8
m

5.9m
4.2m

𝐵

𝐶

𝐷

𝐴

𝐸

3. 56 nm

75 nm

38 nm

27 nm

37 nm

64 nm

𝐵 𝐶

𝐽
𝐹

𝐺

𝐴

𝐼

𝐻

𝐸

𝐷

4.

33.2 ft

28.4 ft

30.4 ft

60.0 ft

81.2 ft

19.6 ft

23.3 ft

31.6 ft

𝐶

𝐺

𝐹

𝐼

𝐴 𝐵

𝐸

𝐻

𝐷
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Area and Perimeter of Composite Shapes (D) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

18.4mm

4.6mm

4.7mm

9.2mm

14.6mm
𝐸

𝐷

𝐴

𝐺𝐹

𝐵

𝐶

Area

(Area of 𝐴𝐵𝐶𝐺) + (Area of 𝐷𝐸𝐹)
= (9.2 × 18.4) + ( 27.8×4.6

2
)

= 169.28 + 63.94
= 233.2mm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 18.4 + 9.2 + 4.7 + 14.6 + 14.6 + 4.7 + 9.2
= 75.4mm

2.

10.8m

7.8
m

5.9m
4.2m

𝐵

𝐶

𝐷

𝐴

𝐸

Area

(Area of 𝐴𝐶𝐷𝐸) − (Area of 𝐴𝐶𝐵)
= (10.82) − ( 10.8×4.2

2
)

= 116.64 − 22.68
= 94.0m2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 7.8 + 5.9 + 10.8 + 10.8 + 10.8
= 46.1m

3. 56 nm

75 nm

38 nm

27 nm

37 nm

64 nm

𝐵 𝐶

𝐽
𝐹

𝐺

𝐴

𝐼

𝐻

𝐸

𝐷

Area

(Area of 𝐴𝐵𝐼𝐽) + (Area of 𝐵𝐶𝐺𝐻) + (Area of 𝐶𝐷𝐸𝐹)
= (64 × 27) + (37 × 27) + (75 × 56)
= 1728 + 999 + 4200
= 6927 nm2

Perimeter

= 𝐴𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐼 + 𝐼𝐽 + 𝐽𝐴
= 110 + 75 + 56 + 38 + 27 + 27 + 27 + 64
= 424 nm

4.

33.2 ft

28.4 ft

30.4 ft

60.0 ft

81.2 ft

19.6 ft

23.3 ft

31.6 ft

𝐶

𝐺

𝐹

𝐼

𝐴 𝐵

𝐸

𝐻

𝐷

Area

(Area of 𝐷𝐸𝐹𝐼) − (Area of 𝐵𝐺𝐼𝐶) + (Area of 𝐴𝐺𝐻)
= (60.0 × 81.2) − (28.4 × 52.8) + ( 19.6×23.3

2
)

= 4872 − 1499.52 + 228.34
= 3600.8 ft2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 33.2 + 28.4 + 28.4 + 60.0 + 81.2 + 31.6 + 30.4 + 23.3
= 316.5 ft
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Area and Perimeter of Composite Shapes (E)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

400.0 yd

100.0 yd

141.4 yd 223.6 yd

316.2 yd

𝐷

𝐸

𝐵

𝐴 𝐶

2.

106 µm

65 µm

28 µm

40 µm

50 µm

31 µm

𝐷𝐹

𝐸

𝐺

𝐴

𝐶

𝐵

3.

7.1m

7.8m

4.1m

9.1m

6.3m𝐻 𝐼

𝐹

𝐺

𝐴

𝐸

𝐷 𝐶

𝐵

4.

36.6 ft

40.1 ft

16.7 ft

31.4 ft

23.8 ft
40.1 ft

17.1 ft

64.8 ft

𝐴

𝐵 𝐼

𝐸

𝐶 𝐺

𝐹

𝐷 𝐻
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Area and Perimeter of Composite Shapes (E) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

400.0 yd

100.0 yd

141.4 yd 223.6 yd

316.2 yd

𝐷

𝐸

𝐵

𝐴 𝐶

Area

(Area of 𝐴𝐵𝐶) + (Area of 𝐴𝐷𝐸)
= ( 400.0×100.0

2
) + ( 300.0×100.0

2
)

= 20,000.0 + 15,000.0
= 35,000.0 yd2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 141.4 + 316.2 + 100.0 + 223.6 + 141.4
= 922.6 yd

2.

106 µm

65 µm

28 µm

40 µm

50 µm

31 µm

𝐷𝐹

𝐸

𝐺

𝐴

𝐶

𝐵

Area

(Area of 𝐴𝐵𝐶𝐺) − (Area of 𝐷𝐹𝐸)
= (65 × 106) − ( 50×31

2
)

= 6890 − 775
= 6115 µm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 106 + 65 + 28 + 40 + 40 + 28 + 65
= 372 µm

3.

7.1m

7.8m

4.1m

9.1m

6.3m𝐻 𝐼

𝐹

𝐺

𝐴

𝐸

𝐷 𝐶

𝐵

Area

(Area of 𝐴𝐺𝐻) + (Area of 𝐴𝐵𝐶𝐺) + (Area of 𝐷𝐸𝐹𝐺)
= ( 6.3×7.1

2
) + (6.3 × 13.2) + (4.12)

= 22.365 + 83.16 + 16.81
= 122.3m2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 13.2 + 6.3 + 9.1 + 4.1 + 4.1 + 4.1 + 7.8 + 7.8
= 56.5m

4.

36.6 ft

40.1 ft

16.7 ft

31.4 ft

23.8 ft
40.1 ft

17.1 ft

64.8 ft

𝐴

𝐵 𝐼

𝐸

𝐶 𝐺

𝐹

𝐷 𝐻

Area

(Area of 𝐵𝐶𝐻𝐼) − (Area of 𝐷𝐺𝐹𝐸) + (Area of 𝐴𝐵𝐼)
= (40.1 × 64.8) − (23.8 × 31.4) + ( 64.8×17.1

2
)

= 2598.48 − 747.32 + 554.04
= 2405.2 ft2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐼 + 𝐼𝐴
= 36.6+40.1+16.7+23.8+31.4+23.8+16.7+40.1+36.6
= 265.8 ft
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Area and Perimeter of Composite Shapes (F)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

1.1 km

1.5 km

2.1 km

4.5 km

1.6 km

𝐶

𝐴 𝐵

𝐸

𝐹 𝐷

2.

281 nm

308 nm

395 nm

247 nm
161 nm

78 nm

𝐵

𝐶

𝐴

𝐷

3.

12.3mm

28.4mm

16.1mm

17.4mm

27.5mm

𝐻

𝐴

𝐵

𝐷𝐸

𝐹𝐺

𝐶

4. 4.1 cm

3.1 cm

2.0 cm

5.1 cm

4.4 cm

𝐽 𝐼

𝐻

𝐴

𝐾

𝐺

𝐹 𝐸

𝐵

𝐶 𝐷
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Area and Perimeter of Composite Shapes (F) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

1.1 km

1.5 km

2.1 km

4.5 km

1.6 km

𝐶

𝐴 𝐵

𝐸

𝐹 𝐷

Area

(Area of 𝐷𝐸𝐹) − (Area of 𝐴𝐹𝐶𝐵)
= ( 3.2×3.1

2
) − (1.5 × 1.1)

= 4.96 − 1.65
= 3.3 km2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 1.1 + 1.5 + 2.1 + 4.5 + 1.6
= 10.8 km

2.

281 nm

308 nm

395 nm

247 nm
161 nm

78 nm

𝐵

𝐶

𝐴

𝐷

Area

(Area of 𝐴𝐵𝐶) + (Area of 𝐴𝐶𝐷)
= ( 308×161

2
) + ( 395×78

2
)

= 24,794 + 15,405
= 40,199 nm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐴
= 281 + 308 + 395 + 247
= 1231 nm

3.

12.3mm

28.4mm

16.1mm

17.4mm

27.5mm

𝐻

𝐴

𝐵

𝐷𝐸

𝐹𝐺

𝐶

Area

(Area of 𝐴𝐵𝐶𝐷) + (Area of 𝐴𝐸𝐹𝐺) + (Area of 𝐴𝐺𝐻)
= (12.3 × 28.4) + (12.3 × 16.1) + ( 12.3×12.3

2
)

= 349.32 + 198.03 + 75.645
= 623.0mm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 12.3 + 28.4 + 12.3 + 12.3 + 12.3 + 16.1 + 17.4 + 27.5
= 138.6mm

4. 4.1 cm

3.1 cm

2.0 cm

5.1 cm

4.4 cm

𝐽 𝐼

𝐻

𝐴

𝐾

𝐺

𝐹 𝐸

𝐵

𝐶 𝐷

Area

(Area of 𝐼𝐽𝐾) + (Area of 𝐴𝐵𝐺𝐻) + (Area of 𝐶𝐷𝐸𝐹)
= ( 3.1×3.1

2
) + (10.2 × 4.1) + (3.12)

= 4.805 + 41.82 + 9.61
= 56.2 cm2

Perimeter

= 𝐴𝐵+𝐵𝐶+𝐶𝐷+𝐷𝐸+𝐸𝐹+𝐹𝐺+𝐺𝐻+𝐻𝐼+𝐼𝐽+𝐽𝐾+𝐾𝐴
= 4.1+2.0+3.1+3.1+3.1+5.1+4.1+5.1+3.1+4.4+2.0
= 39.2 cm

Math-Drills.com



Area and Perimeter of Composite Shapes (G)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

30 µm

33 µm

37 µm

11 µm

45 µm

𝐴𝐼

𝐹

𝐻

𝐶𝐷

𝐸

𝐵

𝐺

2. 51.1 cm

113.5 cm

78.9 cm

71.3 cm

131.2 cm

65.8 cm

34.6 cm

𝐵

𝐶

𝐷

𝐸

𝐴

𝐹

3.

0.31mi

0.08mi

0.10mi
0.09mi

0.24mi 0.07mi
𝐶

𝐹
𝐸

𝐻

𝐷

𝐴

𝐺

𝐵

4.

16.7 in

22.2 in18.3 in

19.2 in

8.1 in

40.5 in

20.8 in

𝐶

𝐸 𝐴𝐹

𝐷

𝐵

𝐺

𝐼

𝐻
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Area and Perimeter of Composite Shapes (G) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

30 µm

33 µm

37 µm

11 µm

45 µm

𝐴𝐼

𝐹

𝐻

𝐶𝐷

𝐸

𝐵

𝐺

Area

(Area of 𝐺𝐻𝐼) + (Area of 𝐴𝐸𝐹𝐼) + (Area of 𝐴𝐵𝐶𝐷)
= ( 30×33

2
) + (44 × 37) + (332)

= 495 + 1628 + 1089
= 3212 µm2

Perimeter

= 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐵
= 33 + 33 + 11 + 37 + 11 + 45 + 100
= 270 µm

2. 51.1 cm

113.5 cm

78.9 cm

71.3 cm

131.2 cm

65.8 cm

34.6 cm

𝐵

𝐶

𝐷

𝐸

𝐴

𝐹

Area

(Area of 𝐶𝐷𝐸) + (Area of 𝐴𝐵𝐸𝐹)
= ( 78.9×65.8

2
) + (113.5 × 51.1)

= 2595.81 + 5799.85
= 8395.7 cm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 51.1 + 34.6 + 71.3 + 131.2 + 51.1 + 113.5
= 452.8 cm

3.

0.31mi

0.08mi

0.10mi
0.09mi

0.24mi 0.07mi
𝐶

𝐹
𝐸

𝐻

𝐷

𝐴

𝐺

𝐵

Area

(Area of 𝐴𝐵𝐺𝐻) − (Area of 𝐶𝐹𝐸𝐷)
= (0.24 × 0.31) − (0.07 × 0.10)
= 0.0744 − 0.007
= 0.067mi2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 0.31 + 0.08 + 0.10 + 0.07 + 0.10 + 0.09 + 0.31 + 0.24
= 1.30mi

4.

16.7 in

22.2 in18.3 in

19.2 in

8.1 in

40.5 in

20.8 in

𝐶

𝐸 𝐴𝐹

𝐷

𝐵

𝐺

𝐼

𝐻

Area

(Area of 𝐷𝐺𝐻𝐼) − (Area of 𝐸𝐺𝐹) − (Area of 𝐴𝐼𝐶𝐵)
= (35.9 × 40.5) − ( 19.2×8.1

2
) − (16.7 × 22.2)

= 1453.95 − 77.76 − 370.74
= 1005.5 in2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 22.2 + 16.7 + 18.3 + 16.7 + 8.1 + 20.8 + 40.5 + 19.2
= 162.5 in
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Area and Perimeter of Composite Shapes (H)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

924 nm

240 nm540 nm

405 nm693 nm

𝐹

𝐴

𝐷
𝐶

𝐸

𝐵

2.

15 µm

16 µm

36 µm
49 µm

33
µm

𝐸𝐹

𝐴

𝐷

𝐵

𝐶

3.

3.15 yd

5.76 yd

11.19 yd

8.88 yd

3.66 yd

4.02 yd

6.54 yd

4.86 yd

4.38 yd

𝐼

𝐻

𝐶

𝐷

𝐴

𝐵

𝐹

𝐸

𝐺

4.

12.72 ft
7.69 ft

12.38 ft

4.15 ft

11.04 ft

6.31 ft

7.50 ft

9.85 ft

𝐵

𝐸

𝐷

𝐴

𝐶

𝐻

𝐺

𝐹
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Area and Perimeter of Composite Shapes (H) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

924 nm

240 nm540 nm

405 nm693 nm

𝐹

𝐴

𝐷
𝐶

𝐸

𝐵

Area

(Area of 𝐴𝐵𝐹) − (Area of 𝐶𝐸𝐷)
= ( 924×693

2
) − ( 540×405

2
)

= 320,166 − 109,350
= 210,816 nm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 924 + 240 + 540 + 405 + 240 + 693
= 3042 nm

2.

15 µm

16 µm

36 µm
49 µm

33
µm

𝐸𝐹

𝐴

𝐷

𝐵

𝐶

Area

(Area of 𝐴𝐵𝐸𝐹) + (Area of 𝐶𝐷𝐸)
= (49 × 15) + ( 15×33

2
)

= 735 + 247.5
= 982.5 µm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐹 + 𝐹𝐴
= 15 + 16 + 36 + 30 + 49
= 146 µm

3.

3.15 yd

5.76 yd

11.19 yd

8.88 yd

3.66 yd

4.02 yd

6.54 yd

4.86 yd

4.38 yd

𝐼

𝐻

𝐶

𝐷

𝐴

𝐵

𝐹

𝐸

𝐺

Area

(Area of 𝐵𝐶𝐷𝐼) + (Area of 𝐸𝐹𝐻𝐼) + (Area of 𝐴𝐻𝐺)
= (11.19 × 5.76) + (3.66 × 8.88) + ( 4.86×4.38

2
)

= 64.4544 + 32.5008 + 10.6434
= 107.60 yd2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 3.15 + 5.76 + 11.19 + 14.64 + 3.66 + 4.02 + 6.54
= 48.96 yd

4.

12.72 ft
7.69 ft

12.38 ft

4.15 ft

11.04 ft

6.31 ft

7.50 ft

9.85 ft

𝐵

𝐸

𝐷

𝐴

𝐶

𝐻

𝐺

𝐹

Area

(Area of 𝐶𝐻𝐹𝐺) − (Area of 𝐷𝐻𝐸) − (Area of 𝐴𝐺𝐵)
= (15.19 × 14.00) − ( 9.85×7.50

2
) − ( 6.31×11.04

2
)

= 212.66 − 36.9375 − 34.8312
= 140.89 ft2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 12.72 + 7.69 + 7.69 + 12.38 + 4.15 + 4.15
= 48.78 ft
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Area and Perimeter of Composite Shapes (I)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

6.9 cm

8.8 cm
11.9 cm

8.1 cm6.3 cm

4.8 cm

7.4 cm𝐸

𝐴 𝐹

𝐷

𝐵

𝐶

2. 18.6mm

41.6m
m

26.3mm

𝐽

𝐴

𝐵

𝐶

𝐷 𝐸

𝐹

𝐻

𝐼

𝐺

3. 9.2mi

9.2mi

4.6mi 4.6mi

4.0mi 7.0mi

3.5mi

4.0mi

4.1mi𝐵 𝐺

𝐴

𝐹

𝐷

𝐶

𝐻

𝐸

4.

10.3 yd

29.9
yd

41.5 yd

𝐻

𝐴

𝐸

𝐵

𝐷

𝐹

𝐶𝐺
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Area and Perimeter of Composite Shapes (I) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

6.9 cm

8.8 cm
11.9 cm

8.1 cm6.3 cm

4.8 cm

7.4 cm𝐸

𝐴 𝐹

𝐷

𝐵

𝐶

Area

(Area of 𝐴𝐵𝐸) + (Area of 𝐶𝐷𝐸)
= ( 12.9×6.3

2
) + ( 7.4×4.8

2
)

= 40.635 + 17.76
= 58.4 cm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐴
= 6.9 + 8.1 + 8.8 + 7.4 + 11.9
= 43.1 cm

2. 18.6mm

41.6m
m

26.3mm

𝐽

𝐴

𝐵

𝐶

𝐷 𝐸

𝐹

𝐻

𝐼

𝐺

Area

(Area of 𝐶𝐷𝐼) + (Area of 𝐵𝐼𝐷𝐽) + (Area of 𝐴𝐽𝐸𝐻) +
(Area of 𝐹𝐺𝐻)
= ( 18.6×18.6

2
) + (18.62) + (37.2 × 18.6) + ( 18.6×18.6

2
)

= 172.98 + 345.96 + 691.92 + 172.98
= 1383.8mm2

Perimeter

= 𝐴𝐵 + 𝐵𝐼 + 𝐼𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 18.6+18.6+26.3+41.6+37.2+18.6+26.3+41.6+18.6
= 247.4mm

3. 9.2mi

9.2mi

4.6mi 4.6mi

4.0mi 7.0mi

3.5mi

4.0mi

4.1mi𝐵 𝐺

𝐴

𝐹

𝐷

𝐶

𝐻

𝐸

Area

(Area of 𝐴𝐷𝐸𝐻) − (Area of 𝐵𝐷𝐶) − (Area of 𝐸𝐺𝐹)
= (8.6 × 9.2) − ( 4.0×3.5

2
) − ( 4.0×3.5

2
)

= 79.12 − 7.0 − 7.0
= 65.1mi2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐴
= 4.6 + 4.1 + 7.0 + 9.2 + 7.0 + 4.1 + 4.6 + 9.2
= 49.8mi

4.

10.3 yd

29.9
yd

41.5 yd

𝐻

𝐴

𝐸

𝐵

𝐷

𝐹

𝐶𝐺

Area

(Area of 𝐴𝐵𝐺) + (Area of 𝐸𝐹𝐺𝐻) + (Area of 𝐶𝐷𝐻)
= ( 10.3×40.2

2
) + (29.9 × 10.3) + ( 10.3×40.2

2
)

= 207.03 + 307.97 + 207.03
= 722.0 yd2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 41.5 + 30.9 + 41.5 + 10.3 + 10.3 + 10.3
= 144.8 yd
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Area and Perimeter of Composite Shapes (J)
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

104 µm

50 µm

27 µm

36 µm
21 µm

37 µm

65 µm

60 µm16 µm

25 µm
𝐺

𝐼

𝐹

𝐴

𝐶

𝐷𝐸

𝐵

𝐻

2.

637.42m

48
1.
99

m
204.81m

307.55m

356.07m

101.14m
108.33m

373.66m

432.61m

𝐺

𝐷

𝐹

𝐻

𝐴

𝐶

𝐵

𝐸

3.

1.21 km

0.78 km
2.56 km

0.41 km
0.60 km

0.34 km

0.96 km

0.58 km

0.55 km

0.24 km

𝐸 𝐻

𝐴

𝐷

𝐹

𝐶

𝐺 𝐵

4.

22.2 in

55.1 in

24.8 in

59.4 in31.4 in

𝐻

𝐵

𝐸

𝐹𝐼

𝐴 𝐷

𝐺

𝐶
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Area and Perimeter of Composite Shapes (J) Answers
Name: Date: Score:

Calculate the area and perimeter of each figure. Round to the number of decimals in
the measurements.

1.

104 µm

50 µm

27 µm

36 µm
21 µm

37 µm

65 µm

60 µm16 µm

25 µm
𝐺

𝐼

𝐹

𝐴

𝐶

𝐷𝐸

𝐵

𝐻

Area

(Area of 𝐴𝐵𝐹) − (Area of 𝐺𝐼𝐻) + (Area of 𝐶𝐷𝐸)
= ( 104×78

2
) − ( 60×25

2
) + ( 36×27

2
)

= 4056 − 750 + 486
= 3792 µm2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐼 + 𝐼𝐴
= 104 + 50 + 27 + 36 + 21 + 37 + 65 + 60 + 16
= 416 µm

2.

637.42m

48
1.
99

m
204.81m

307.55m

356.07m

101.14m
108.33m

373.66m

432.61m

𝐺

𝐷

𝐹

𝐻

𝐴

𝐶

𝐵

𝐸

Area

(Area of 𝐴𝐵𝐶𝐻) − (Area of 𝐷𝐻𝐺) − (Area of 𝐷𝐹𝐸)
= (481.99 × 637.42) − ( 432.61×373.66

2
) − ( 356.07×307.55

2
)

= 307,230.0658 − 80,824.5263 − 54,754.66425
= 171,650.88m2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐴
= 637.42+481.99+204.81+307.55+356.07+101.14+
108.33
= 2197.31m

3.

1.21 km

0.78 km
2.56 km

0.41 km
0.60 km

0.34 km

0.96 km

0.58 km

0.55 km

0.24 km

𝐸 𝐻

𝐴

𝐷

𝐹

𝐶

𝐺 𝐵

Area

(Area of 𝐵𝐶𝐺) − (Area of 𝐴𝐻𝐷𝐺) + (Area of 𝐸𝐹𝐻)
= ( 2.17×1.36

2
) − (0.58 × 0.96) + (0.55×0.24

2
)

= 1.4756 − 0.5568 + 0.066
= 0.98 km2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐴
= 1.21 + 2.56 + 0.78 + 0.41 + 0.60 + 0.34
= 5.90 km

4.

22.2 in

55.1 in

24.8 in

59.4 in31.4 in

𝐻

𝐵

𝐸

𝐹𝐼

𝐴 𝐷

𝐺

𝐶

Area

(Area of 𝐴𝐵𝐶) + (Area of 𝐴𝐷𝐹𝐼) + (Area of 𝐷𝐸𝐹) +
(Area of 𝐺𝐻𝐼)
= ( 77.3×22.2

2
) + (22.22) + ( 22.2×22.2

2
) + ( 77.3×22.2

2
)

= 858.03 + 492.84 + 246.42 + 858.03
= 2455.3 in2

Perimeter

= 𝐴𝐵 + 𝐵𝐶 + 𝐶𝐷 + 𝐷𝐸 + 𝐸𝐹 + 𝐹𝐺 + 𝐺𝐻 + 𝐻𝐼 + 𝐼𝐴
= 31.4+59.4+55.1+24.8+24.8+55.1+59.4+31.4+22.2
= 363.6 in
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